
I. forduló II. forduló III. Forduló Elődöntő Döntő Győztes

Gelb Gábor   
Oláh András

7.

Ilia B./Ihász A.
31 0

Ilia B./Ihász A.

25 Szín I./Varga Z.
Szín I./Varga Z.

26 0
Szín I./Varga Z.

27 Pál K./Oláh Cs.

28 0

23 0
Takács T./Sütő J.

24 Takács T./Sütő J.

Márton J/ Forczek L
20 0

21 Máté./Juhász P.
Máté./Juhász P.

22 0

32 Ilia B./Ihász A.

29 Zalai Gy./Diófási T.

30 0

17 Magyar A./Újpál G.

19 Márton J/ Forczek L

18 0

Pál I./Papp T.

Gelb G./Oláh A

Sipos F./Laczkó B.

Gyarmati Gy/Tonk I.

15

16

0

Sipos F./Laczkó B.

0

Gyarmati Gy/Tonk I.

0

0

Jagicza G/Falusy G

10

11

12

13

14

3

7 0

8 Pál I./Papp T.

Szentpéteri M / 
Sebestyén Gy

4 0

5 Füzy T./Gyéresi Gy

6 0

9

Varga T./Kálmán Z

1

2

Gelb G./Oláh A
Gelb G./Oláh A

Varga T./Kálmán Z

Pál I./Papp T.

Varga T./Kálmán Z

0

Gelb G./Oláh A

1

5.

8.

4.

3.

6.

2.

Gelb G./Oláh A

Jagicza G/Falusy G

Gelb G./Oláh A

Jagicza G/Falusy G

Magyar A./Újpál G.

Pál K./Oláh Cs.

Magyar A./Újpál G.

Takács T./Sütő J.

Zalai Gy./Diófási T.

Szín I./Varga Z.

Szín I./Varga Z.

Magyar A./Újpál G.

Varga T./Kálmán Z

Szentpéteri M / 
Sebestyén Gy

Füzy T./Gyéresi Gy

!


